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B.A. (CBCS) DEGREE EXAMINATION, APRIL .ﬁB
First Semester
Economics — Core
STATISTICS FOR ECONOMICS —1

(For those who joined in July 2021 onwards)

Time : Three hours Maximum : 75 marks

PART A — (iO x 1 =10 marks)
Answer ALL questions.

Choose the correct answer :
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Secondary data should be used when
(a) Itis easily available

'b) It 1s less costly to use

(c)  The data meets the purpose

(d) Need of the study
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Purposive sampling and judgement sampling are

(a)  Free from bias (b) IFull of bias

(¢)  Noneofthese (d) Neutral
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Classification is the process of arranging data in
(a) Different coloumns

(b)  Different rows

()  Different columns and rows

(d)  Grouping of related facts in different classes
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Which of the following is not an example of
compressed data? :

(a) A frequency curve

(b) Frequency distribution

(¢) Data array

(d) Histogram
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The sum of deviations taken from arithmetic mean
18

(a) I\"Ii11i11111111 (b)  Maximum
(¢) One (d) Zero
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The sum of squares of deviations from arithmetic
mean is '
(a) Zero ' (b) Maximum

(¢ Minimum (d)  One
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Which of the following is a relative measure of
dispersion?

(a) Variance

(bh) Coeff'icien( of variance
(¢) Standard deviation
() None of these
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_(c) Central 50% (d)

STOWIE aflewésd o dar &g

(D) WP 50% (<) S8 50%

(Q) wsHu 50% () @@eu agiead Qe
The quartile deviation includes the
(a) First 50% (b) Last 50%

None of these
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For a symmetrical distribution, the coefficient
skewness is

(a) +1 b)) -1

(@ +3 (d -3

ag@iwep CarlLgpomLw sloLwera] HEQiQeushr
LITeU Q& (&

(=) 1y e Quilwug

() 1§ G@Deurang)

(@) 1&@ s

(FF) suith

For a negatively skewed frequency distribution,
the kurtosis 1s

(@)  Greater than 1 (b)
() Equalto1l (d) Zero ‘
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PART B — (5 x 5 = 25 marks) 13. (=) eyredl, @en_flaw whpd s lgheE Qe Cy,
’ 2_arer OgrLmfenans @nudLeyb.
Answer ALL questions choosing either (a) or (b).

State th irical relationship bet
Each answer should not exceed 250 words. : © -empirical relationsaip pASIN

mean, median and mode.
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Define primary data. State their chief 14, (&) empemes cueerGar®) aatnrd aarar? @ran®
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(1) Lerefludlued S176&HENET S L_GUENGRTITE
eileréGougen Crrssasdenar clars@s. ] o oo o
: What is Lorenz curve? How is it useful in

Iixplain the purpose of tabular presentation

measuring income inequalities between two
of statistical data.

regions?
Or Or
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What is a pie diagram? Explain the steps in

Prove that the sum of the squared deviations
its construction.

is least when taken from the mean.
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16.
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Differentiate between Bowley’'s measure and
Karl Pearson’s measure of skewness.

Or
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Explain the difference between skewness and
kurtosis.

PART C — (5 x 8 = 40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

(A

)
/

Caareflgsmear epod syey Cesfubear gemeno
wHmID @GnenDUTHGeneT e Ceuis.
ixamine the merits and demerits of data
collection through questionnaire.

Or
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Distinguish between census and sampling
techniques of collecting data and discuss

their relative merits and demerits, o
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Explain  the rules followed in the

diagrammatic presentation of data.

.Or
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Describe the merits and demerits of graph.

iGempeuld &L safer SjemeGleuesr
ureuddley @ mhs Qumsse  srmefepwis
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12-16

TETERil&Eams e Gamns
6 24-28 12
10 28-32 10
18 32-36 6
30 36-40 2
15
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Marks

4-8
8-12
12-16
16-20
20-24

(<2h)

Find the geometric mean from the following

frequency distribution of marks.

No.of. students Marks No.of. students
6 24-28 12
10 28-32 10
18 32-36 6
30 36-40 2
15
Or
gy creest Crnéssdhans
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What purpose is served by an average?
Discuss  the relative merits and short
comings of various types of average.

Garhissuule  eSeurrsefles @ia S
allevdab s,
240 260 290 245 255 288 272 263 277 251

FFrom the given data calculate standard
deviation.

240 260 290 245 255 288 272 263 277 251

Qr
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20.
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What are the objectives of measuring
dispersion of a frequency distribution?

(o) Quirgafar CarlLé Qswelamarns sansdL oLb.
x 75 85 95 105115 125 135 148
f 12 18 35 42 50 45 30 8
Calculate Pearson’s cocfficient of skewness.
x 75 85 95 105 115 125 135 145
f 12 18 35 42 50 45 30 8

Or
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Explain the concept of Kurtosis and its types
with diagrams. '
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